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#���	���� ������2 0#���� ��! . ���&�� �����1 4! #���	���� #����> �%������� 4,�� 
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(1)
 �� ��Aء و��	ا ���
� Z ا����ف ���
 ).ITU-R M.490را�� ا	����� ( �
(2)

 ���� Bدد ا����، و ا	���� Y"!� ا	�� ).، آ%	ITU-R M.490$را�� ا	����� ( ا	��دد ا�د#� ا	�
(3)

 .B ،1 = Y = 0؛ 1ا	��ا�� ��1 إر��ل ا	��� ا	����دة *' ,�+� ا	��� *'  
(4)

  �34!	 '
�
�ة ( ا	%ي ��B3 ا����A	8 آ%	$ "@�,� �?�< ا	�=>�6 ;%	$ ا	����� ا	�:���ي ا	��4ر إ	�8 ه� ر,5� 6�C	اC9  �����	ا B,ITU-T F.1.( 
(5)

  �+�D	ا E��	ا '* F:5, ��G) �����	را�� اITU-T F.1 ة��C	ا C8 .(ار� .;�� أن ا�����ل ه%P ا��Oرات �@�M' أJ� Kدي إ	� H!I ا	�3
  
  
  

 ���&��2  


ب ��
ب   ا���رة ا�%����  (ARQ) Aا���  (FEC) Bا�

 (CS1) 1إ��رة ا����4 
 (CS2) 2إ��رة ا����4 

 (CS3) 3ة ا����4 إ��ر
 (CS4) 4إ��رة ا����4 
  (CS5) 5إ��رة ا����4 
 ��  βإ��رة ا��ا
 ��  αإ��رة ا��ا
  (RQ)إ��رة ا���4ار 

BYBYYBB 
YBYBYBB 
BYYBBYB 
BYBYBBY 
BYYBYBB 
BBYYBBY 
BBBBYYY 
YBBYYBB  

  
  
  
  
  

 ��  βإ��رة ا��ا
  α، إ��رة ا��ا�� 1إ��رة ا�%,�ورة 
  2إ��رة ا�%,�ورة 
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4.2  � ��������������� �������� �������� �������� �����  

 /��� 
��� �*����� ����� <�%� 0
�������� <����� #�-��&> 
� ��������� �%��A�3� 
��A���� T��&���� <����� #����> ������
������ @	! �%1� �, <���� 43 0�%*��1> ���!> -�193 
� �3 ������� ���� -��1> -�193 0��1���� #����	� 8��O�� 8����� P�+�� #

E����� ;3 :���� 2 . ���&�� �9���33 ( ���&�� ���� ��1�� 0�*��,��� ��������� �%��A�3� �	����� <����� #����> 4�� ���� �A7���
3� (�	����� #����"� @�> 
��A���� T��&��� ��A�3 ����� @�>.  
  

 ���&��33  
  

   ���&��3�  
  

  إ��رة
  ا����ف
(IS)  

  ��.��;ا���� ا�
  ا�1�4%>
(N)  

ا���� ا���.��; ��%=%
ع   
  ا�����<;
(CN)  

  إ��رة ا�%=%
ع
  ا�����<;
(CK)  

A 
B 
C 
D 
E 
F 
I 
K 
M 
O 
P 
Q 
R 
S 
T 
U 
V 
X 
Y 
Z  

19 
11 
6 
18 
13 
8 
15 
3 
4 
14 
5 
2 
16 
9 
10 
12 
0 
1 
7 
17  

  0 
1 
2 
3 
4 
5 
6 
7 
8 
9 
10 
11 
12 
13 
14 
15 
16 
17 
18 
19  

V 
X 
Q 
K 
M 
P 
C 
Y 
F 
S 
T 
B 
U 
E 
O 
I 
R 
Z 
D 
A  

  

5.2  �������� ������� ������ �

 !�����  

 <����� #����> ����IS1� IS2� IS3� IS4� IS5� IS6� IS7 �*��,��� ��������� �%��A�3 @�> N1� N2� N3� N4� N5 
�N6� N7 ���&	� 8���� 0
������ @	! 033 .( �979�� ��������� ��A��� 5�&U��N1� N2� N3�> �%!��&� ����� 0 
����� �A� @

 
��A���� T��&�	�CN1 E��� @	! ��A��� 5�& ��	�! ������ 020 . ��A��� @�> ���1��� ��	���� ��� �����N3� N4� N5 
 
��A���� T��&�	� 
����� �A� @	! ��
���� /��� ���CN2 
��A���� T��&�	� �A� @	!� 0CN3 ��A��� @�> ���1��� N5 

�N6� N7
����� ��1�� @	! 0:  

N1 ⊕ N2 ⊕ N3 = CN1  
N3 ⊕ N4 ⊕ N5 = CN2  
N5 ⊕ N6 ⊕ N7 = CN3  

 ��7��� ���� V��⊕ E��� @	! 5�& ��	�! @�> 20.  

 
��A���� T��&��� ��������� ��A���� ��+�� ������� �	����CN1� CN2� CN3 @�> 
������ @	! 0���� 
��� " T��&��� ����>
 
��A����1" � " 
��A���� T��&��� ����>2" � " 
��A���� T��&��� ����>3" ���&	� 8���� 03�.  

����:  

 ������ <���� 5���� #����"�364775427������� 
�  :PEARDBY)  ��
���� 5&��(ITU-R M.491.  
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����� ��1�� @	! 
��A���� T��&��� @	! �
�R�:  
PEARDBY  → 5 13 19 16 18 11 7 

5  ⊕  13 ⊕  19  = 17 (37-20) 

19 ⊕  16 ⊕ 18 = 13 (53-20-20) 

18 ⊕  11 ⊕   7 = 16 (36-20) 

17 13 16 → Z E R 

 ��7��� ���� V��⊕ E��� @	! 5�& ��	�! @�> 20.  
�������:  
CK1 /�
� "Z")  �A� ���,����26 ���&�� 5&�� 0(1  
CK2 /�
� "E") �A� ���,����  5 ���&�� 5&�� 0(1  
CK3 /�
� "R")  �A� ���,����18 ���&�� 5&�� 0(1  

3   
��
�� �� �!�����(ARQ) A  

1.3  ���
 ������
�  

 #���	���� ����> ���� 4� #����> V79 4� <���� 8���� ����� 04��$���� ��	���� ��M1�� ����(ISS) ������� ���� @�> 
 #���	����(IRS) . ������ ���U��IRS ������ @�> ISS�> ����� 0��?�� 4� ���� �, ������� ��� 0�,�� ����>  ������� @

���?�� ����> ���!> ����� �3 /��
 .��%�?�M� 4������� 4���� ������ 43 4,���.  

2.3  "���#��� �$������ "�%���� ��&�%��� �$����� '
��� �������  

1.2.3   ��������� ������ -��1> @�> ����� 
��� ������ 4>)������� ������ ( ������ /�
�"����*���" "��*����"��1�� 0 ������ /�
� 
 ������ 
� ���	����"����1���" . 4! �M1�� HJ� G��� 0���1��� ��������� ������ @	! �M������ ���� 5� ���J� 4�� ������ ��� @����

 #���	���� ����> ���� #1�, -��� 0�1��� �M�� ��3 
� 0������ T�1(ISS) #���	���� ������� ���� �3 (IRS).  

2.2.3  ������� �,��� �%	��,� ������ #�A��� ��*���� ������ ) �,��� 0������ #�A�� ��+� 5&��(1 .1�� ��� G	��� 43 
J�
A� ��������� X	�� �6−

10 x 30�O�3 �3 0.  

3.2.3   
� ������� #�A���� ����ms 450 
� ������2� ��� ����"� 
� <A�� �%���� ����> ���� 0���� �,� 04�O��� 
:*�193.  

4.2.3  �����*���� ������ ����> #�A��� �,��� 
��� 
� ��*���� ������ ����.  

5.2.3   43 ;3 0��*���� ������ 4� �	������� ����"�� ����� ���,�� 4�,� ����1��� ������ #�A�� 
� �,��� 
��� ��������� 4>
 �	����� ����"� ������ �	������� ����"� ���%1 4�� �	
�?�� ��1�$�� ���?��tE ) �,��� 
� (1����9 
� ) . ���?�� 5&��7.1G��, .(  

6.2.3  ������� ������ 4� �	������� ����"�� ����� ��,��  4�,� ��*���� ������ ������� #�A�� 4>.  

3.3   ����
���� !�&�� �$��(ISS)  

1.3.3   #����> V79 4� �?�6� ��� �+�� 0�%����> 
J�1� 
��� #���	���� ������ ��� 5�&�7 × 3)����> �
�1! .(  

2.3.3   #���	���� ����> ���� ����(ISS) �7+ ���� (ms 70 × 3) ms 210 :��� ����> <A�� �%���� ms 240.  

4.3   ����
���� !����&� �$��(IRS)  

1.4.3   ������ ����IRS �%��� �,�� ����> 0���� �, ������� ��� 07) ms 70����> �
�1!  (����> <A�� ����� 
��� 
 :���ms 380.  
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 �,���1  

�&�&(� ������� $$	�  

4
5
0
 m

s
4
5
0
 m

s
4
5
0
 m

s

2
1
0
 m

s
2
1
0
 m

s

1
4
0
 m

s

7
0
 m

s

t

t
p

t E

t
p

Information block

Control signal

Master station ISS

Slave station IRS

Slave station ISS

Master station IRS

Master station Slave station

Information block

Control signal

Information block

Control signal

  
tp :  ������� �	
)���
 
���� ��(  

tE :  ������� �� ������� ����) ������ ����7.1���� (  

  
5.3  "���$��� ��)����  

1.5.3   ���� 
� 0���1� ���� ���Q 
� 04������� 4�,�"��M�12�" .� 4� ���� ��3 0������ ��� 
� 0���� 2� �%1�� 4������
 ����> ���� �3 0����1��� �3 ��*���� ����*��� ������ISS ������� �3 IRS.  

2.5.3   4�O��"-��1�� ����>"����	� 8���� <��� #����> 5�� �3 5��3  . ���&�� �����33 (<����� #����Y� ��*�A . 43 
J�1��
 ��
��	� ������ -��1	� #����"� ��� <����ITU-R M.491.  

1.2.5.3   ���� 43 �%�	!� #����> 5�� �3 #����> 5���� <����� 
*��&" 8���� ��J��	� �	��A #�$�%&��� 4�,� 43 
J�1�
 ��A��� ��! 
� �3 ����� ���� 4! ����
�� -��1�� ����> ��,�� 
� 4����� ���1��� -��&"� 8��������34) �3 5 �3 (9 ������ 

������ ���� <���� 
,� ����� ������%�	� 
� �Q�� 
��� .  

3.5.3   <����"-��1�� ����>")  �M�7���1 (
����� ��1�� @	!:  
D  " -��1�� ����1" :  #���	�� ����>� @���� <����� ����> 0
������ @	! V��9��� 
1�9��� ���� #����� 5A��� �1! �&1

 ���+��"���,��� ����>"B���	���� ������ <���� ��1�9�� ����"��   
D  " -��1�� ����2" : 
������ @	! V��9��� 
1�9��� ���� #����� 5A��� �1! �&1:  

  D   #����"� ��!��� -��1 ���� ���� 
� : ���	���� ����	� �������� �9��9�� <����� �����>"���,��� ����>�"�3   
  D   #����"� ��!��� -��1 ���� ���� 
� :"���,��� ����>"�9��9�� <����� �����>� ���	���� ����	� �������� .  

��������� 	
�� 

��������� 	
��  

 	��
���� ������
IRS  

 �����
�� ������
ISS  

�����
�� ������
ISS  

 	��
���� ������
IRS  

��������� 	
��  

������ 	
��� 

������ 	
���  

������ 	
��� 

	���
�� ������  	��
���� ������ 

D01
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D   
� #����"� ��!��� -��1 ���� ���� 
�" -��1�� ����3" :���	���� ����	� ���+�� V79�� <����� #����>.  
 �����1 � ������ ��	
� �
���
 ��� ���� ����� ������ ���� �! ��� "#$
 �% &'
 2088� 2134 ��� 2143 )�� 2146 �� 

�
����� *+���.  

 �����	� 8���� ���	���� ������� ���%�� <��� ��A�3 ������ 43 �&�� V79 ��� #�� -��1 ����> ������� @	! ������� ������ ��3
43V79 ��� #�� -��1 ����> ������� @	! ����A #����� �
�� ���1! ������� /*��	� .  

4.5.3  *��� ������ 
� ������ -��1> 
� �Q�� 
��� ������ /�
� ����� 0��*���� ����"-��1�� ����>" ����> ������� 4�� @�> 
����1��� �,���� . ���� ���� -�193 
� ������ ��1� �� ��> 4,�128 ���� (ms 450 x 128) ���� @�> ��� ������ 4Y� 0"��M�12�" 

 �%	A3 ���?� �M�1��128�%�?1 -��1�� ����> ���& 4� ���� 43 ��A ���� .  

5.5.3  � /�
� ���� 4� ���1�� ����1��� ������ 
� ���	���� �����"��M�12�" ���O��� @�> IRS:  
D   ������� ��� 
	� #����"� ��!��� -��1 ���� ���� 
�" -��1�� ����1"� " -��1�� ����2" 4� ������ ���� 0
������ @	! 0

 ������" �,���� ����>1"�3 B@���� <����� ���� ������� 4�� @�>   
D   ����� 4� ������ ���� 0������� -��1 ��� V79 ������� ��� 
	� #����"� ��!��� -��1 ���� ���� 
�" �,���� ����>4" 

 ������� 4�� @�>" <����� ����1".  

6.5.3  4�������� 4�������� 4�����> �%������� ��� 0������� ������ ���1� :" �,�� ����>1" �3 " �,�� ����>2"��� @�> 0 ���� �
 #���	���� ����>(ISS) ������ 0�,���� #���	�� ����� 0) ���?�� 5&��(7.3
������3 <��� 4��� .  

 �����1 �   �
#��,� ��	-� /0�-��� 1
2'��� ���
ITU-R M.476 " �4���� �����1" �% /" �4���� �����2" ��-	��� ��5 "������ �����" 
�-������.  

7.5.3  ������� ������ ���1� �%������� ��� 0" �,���� ����>3" ���� @�> 0�������� ��	�! -�193 "��M�12�" �M�1�� 0128 ���� 
 ���& 4� ���� 43 ��A"-��1�� ����>"�%�?1 .  

 �����1 � �
#��,� ��	-� /0�-��� 1
2'�,� �4�
 ITU-R M.476 ���
 �% /" �4���� �����3" ��-	��� ��5 "������ �����"� /�-������  6��
 ����,���� ����� ���� �
�7� 0
 �% /�������� ���5� �,��� 0
 �-�,���� ������ ��4� �
�(ISS)8��	�9� ��5 .  

8.5.3   #�-��&Y� ������� ������ 3���"��
�2� -�%�1�" ���?	� 8���� 14.7.3 �%������� ��� 0" �,���� ����>5" -��&> -�193 
� 
�������� . ��� �M�1��1280����  ���& 4� ���� 43 ��A 0�A�� @	! "-��1�� ����>"�%�?1  . 0���?�� ��� -�193 
� ������ @����
 ���� 
�"��M�12�".  

6.3  �������(� ������  

��� #����"� ��!��� -��1�� <��� ���� 
� ���1�.  

1.6.3   ���O��� @�> ������� ������ ���1�ISS �%������� ��� 0" �,���� ����>4"���� ���%�� <��� -��&> 3 . ����� ;�&��
<����� ���� -�193 
� 04������� ���� ��� #���	���� . ������ �����ISS ������ ����� �%���� <��� ��� IRS #����> 

 ���?	� ���� 0<����� #����> 4� �
	+����� 
��A���� T��&���5.2 .#����> 4� ����> �, ������� ��� 0������� ������ 4����� 
 ��� 
� �	����� <����� #����> 4� 8��	�� �
	+����� ����1��� 
��A���� T��&��� ����>� ����"� ��� 4�� 0
��A���� T��&���

-��1�� . ���?�� 
� ��,���� -��&"� ���� 2>� 0
����� -��&"� ��?1�� ������� ������ ����� 0������� #����"� #1�, ��>�12.6.3.  

2.6.3  ���� ���� ��ISS " <����� ����1" @���� �%���� <��� ����> 4�O�� 
��� " ������ ����>�α" �%���� ����>� 0

������ @	! 0V��9��� 
1�9��� ���� #����� 5A��� 
� 0��1�9��.  

3.6.3   �%������� ��� ���	���� ������ ����" <����� ����1" 0" 
��A���� T��&��� ����>1"%���� 4� �
	+����� �.  

4.6.3   �%������� ��� 0������� ������ ����" 
��A���� T��&��� ����>1" 0" <����� ����2" #����� 5A��� �1! 4�O�� 
��� 
 0
������ @	! V��9��� 
1�9��� ����" ������ ����>α"������� �%���� ����>� �9��9�� �%���� ����>� .  

5.6.3   �%������� ��� 0���	���� ������ ����" <����� ����2" 0" 
��A���� T��&��� ����>2"�%���� 4� �
	+����� .  
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6.6.3   �%������� ��� 0������� ������ ����" 
��A���� T��&��� ����>2" 0" <����� ����3" �%���� #����> 4�O�� 
��� 

������ @	! 0V��9��� 
1�9��� ���� #����� 5A��� 
� �������� �������� ����+��.  

7.6.3   �%������� ��� 0���	���� ������ ����" <����� ����3" 0" 
��A���� T��&��� ����>3"�%���� 4� �
	+����� .  
8.6.3   0
��A���� T��&�	� ����> �+K �%������� ��� 0������� ������ ����"<����� -�%�1� ����" V79 4�O�� 
��� "���,� #����>".  
9.6.3  �� 0���	���� ������ ���� �%������� �"<����� -�%�1� ����"��> 0:  

D  " �,���� ����>1" ���?	� 8���� �,���� ���� 3��� ��%�� 07.3�3 B  
D  " �,���� ����>3" ������ 
� �,���� ���� ��	��� 3��� 43 ���	���� ������ @	! 4�, 4> 0ISS)  ���?	� 8����(11.7.3.  

10.6.3  �� 0<����� ���� ������� ������ 
%1� �%������� �" �,���� ����>1" ���� ����> �7+ 4� �,���� ���� ��	��� 3���� 
 #���	����1 ���?	� 8���� 07.3.  
11.6.3   �%������� ��� 0<����� ���� ������� ������ 
%1�" �,���� ����>3" ������ #�-��&> 5� �,���� ���� ��	��� 3���� 

 ���?	� ��������11.7.3.  
12.6.3   �� ��> ������ 4Y� 08��	�� �
	+����� 
��A���� T��&��� #����" �	9��� �	������� 
��A���� T��&��� #����> P��> 4,�

������� <����� ���� ���& 4� ���� ������� . ��� 0����1��� 
��A���� T��&��� ����> 0P�+3 ��� 0���	���� ������ �����
��� <����� ���� �%�������.  

� ������ ;�&�
��A���� T��&�	� ����"� ��� �%������� ��� 0���& 4� �1������ ��� ������ . ��$� 2 �	������� #����"� #1�, ��Y�
 #�-��&Y� 3��� 43 ������� ������ @	�� 0�%�?1 ������� ����"� 
� �	������� 
��A���� T��&��� ����> #1�,� 0������� ��Q" -�%�1�

��
�2�" ���?	� 8���� 14.7.3 .������� <����� ���� 0P�+3 ��� 0���� ������� ������ 4Y� 0E,��� ���� 
� ��3 . 23 
J�1��
 T��&��� ����> ������ �� ��Y� 0�*��+ 
��A�� T��&� #����> ������� ���� #��� 5��3 4� �9,3 <��� ���� ;3 ����> ����

� �*1�� ���� 43 ������� ������ @	�� ����
�� 
��A���� ���� @�> 0���& 4"��M�12�".  
13.6.3  ������ 2 ������� ������ 43 @�> ������ ������2� P�3 ��>:  

D  " �,���� ����>4" ����> 
� ����� 0"-��1�� ����>"B  
D  " 
��A���� T��&��� ����>1" . ���& 4� ����" <����� ����1"B  
D  " 
��A���� T��&��� ����>2" ���& 4� ���� 0"�� ���� <���2"B  
D  " 
��A���� T��&��� ����>3" ���& 4� ���� 0" <����� ����3"B  
D  " �,���� ����>1" �3 " �,���� ����>3" 0���& 4� ���� 0" <����� -�%�1� ����1"0  

 ���?�� 
� ���,���� P�
��� ���?�� ����!2� 
� ��+K18.6.3.  
14.6.3  193 
� �� ���� ���	���� ������ ������ �� ��> ���� 43 �%�	! 0���� ������� ���� G��� 0<����� ���� -�" ����>

���,�" ���?�� 
� ������� P�
��� ���?�� ����!2� 4�! 
� ��+K 018.6.3.  
15.6.3   ������� ������ #	����� ��>"���,� ����>"������� ���?�� ���& 4� ���� 43 �%�	! 0<����� ���� -�193 
� 0.  
16.6.3  4,� �� ��> ������ 4� <��� ���� ����> ���!> ���� 0������� ���	���� ������ �%�	����� 
��� <����� #����> 

 ���� 43 ���	���� ������ @	! 4�,� 0�������"���,� ����>"4�������� 4�������� <��� ����� �����U� 43 @�>  . ���� 43 �%�	!�
!��� 5� 0�	������ 
��A���� T��&��� ����> �*��� ���?�� 
� ���,���� P�
��� ���?�� ��18.6.3.  

17.6.3   ���	���� ������ #	����� ��>"��
�2� -�%�1� ����")  4�O�� 
���" ���� #����> V79α"( 0<����� ���� -�193 
� 0
 ���� 43 �%�	!" �,�� ����>1" ���� @�> ������ "��M�12�".  

18.6.3  � �7+ #����"� ������� 4�,� ���1! ���� @�> 2���� 43 4������� @	! 4�,� 0�������� 8����� <����� ���
"��M�12�" ��� 32������� ���,��� 4� ���� .  

19.6.3   ��
�2� ��� ���� P�+�� ������ ���� 0�%��,�� 
� M?�� 43 ���� �,� 
J�1�) ���?�� 5&��(1.7.3 . 43 
J�1��
	�� 8�1,�� ���	���� ��� @�> ��?1�� 4�,� �

+� �	
?1� I�+ ���� @	! �3 0��9��� ���� @	! H�! $�%& ������ 08��


&��+�� ������7� .�,���� ��1 I�+�� �+ @	! ��� ���%�� ���	�� �%M� 23 ;���O�� 4� 43 ���.  
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7.3  ������ '*��  

1.7.3   ���� @�> ������ ����� 4�� @�>� �,���� ���� -����� ��� #A� ;3 
� ����	� 
J�1�"��M�12�" M?�� 43 0���& 4� 
������� #���	���� ��,���� 
�:  

D  B����1��� ������ �3 ��*���� ����*��� ������ ���O� 
� 
� ��  
D   P�+�� ������ ����)�&���� �1!(B  
D   ���O��� 
� 
� ��ISS �3 IRSB  
D  ��A��� �	A �3 <����� �	A ���� 
� �� �,���� ���� ��&�� ��.  

2.7.3  ���� ������ ISS 0����O�� �1! 0������� 0#����> V79 �%1� ���� �, 4�O�� 0��� 
� �,���� #���	�� 
" ������ #����>β"�	�,�� 0��� �,���� 4� #���	�� ��3 ����� 2 ���1! 0�%*	� �3 #���	���� .  

3.7.3   ������ M?��ISS��� ����> ������ 43 @�> �	����� #���	���� ���� �%��,�� 
�  82������ �,6� 
��� ����1��� �,�
 ������ 
� 8����
IRS.  

4.7.3   ������ �A��IRS ���1���� �	������� #���	���� 
���� 0
	+���� ������2� <�%� 0" #���	���� ����1" 0" �����
 #���	����2"�	��� �,�� ����> ��� 8���� G��� 0 . ������� ��� ��?�� ��A�� 5��1��:  

D  ��	� �����3 B����� #����> ��! �3 0����� ����> �%�� #���	  
D   4�O�� #���	��	� ����"���,� ����>"�A�� @	! ����� .  

5.7.3   ������ ����IRS " �,�� ����>1" ������� ��� :  
D  " #���	�� ����2"�3 B����� ��Q   
D  " #���	�� ����1"�3 B�����   
D  " #���	�� ����1" 4�O�� "���,� ����>"�� �A�� @	! 0���.  

6.7.3   ������ ����IRS " �,�� ����>2" ������� ��� :  
D  " #���	�� ����1"�3 B����� ��Q   
D  " #���	�� ����2"�3 B�����   
D  " #���	�� ����2" 4�O�� "���,� ����>"�A�� @	! 0����� .  

7.7.3   ������ �A��ISS������� #���	���� 
���� 0
	+���� ������2� <�%� 0���1���� 4��� :" #���	���� ����1" 0  
�" #���	���� ����2" 0@���� ���?�� �A�� 43 
J�1�� 0" #���	��	� ����1" �3 " #���	��	� ����2" ����> :�	! 4�,� ��� 8���� 0

 0�	������� �,����" �,�� ����>1" �3 " �,�� ����>2" . ������� ��� ��A���� 5��1� 43 
J�1��:  
D  �,��� �	��3 B��  
D  �3 B����� �,�� ����>  
D  " �,�� ����>3".  

8.7.3   ������ ����ISS " #���	���� ����1" ������� ��� 0" �,���� ����>1".  

9.7.3   ������ ����ISS " #���	���� ����2" ������� ��� 0" �,���� ����>2".  

10.7.3   ������ ����ISS 4�O�� ���� 0����� �,�� ����> ������� ���  V79"���,� #����>".  

11.7.3  !����� ��)����  

1.11.7.3   ������ 4� �	�� 4�, ��>ISS #����"� 5���� ���� 0�,���� ���� ��&�� 
� ���J�� 3��� 43 )"�")  �A� ���,����(30 0
"+")  �A� ���,����(26 0"?")  �A� ���,����2(( ��! �3 ����� ����> 0�&���� �1! �%���� 0"���� #����> β"#���	���� ���� ���," 0.  

2.11.7.3   ���������� IRS #����"� 5���� ������� ��� 0)"+" 0"?")  �A� 4����,����26 �A�� (2 ���� 
� �,���� ���� 5� 
 ����Y� 0��A��� �	A" �,���� ����>3"V79�� #����"� 4�O�� #���	�� ���� �%������� 4�� @�>  :" ������ ����>β" 0" ����>�

 ������α" 0" ������ ����>�β".  
 �����1 �  ��'� ;��
 9% 0<-�
" ������ ������β" �
����=� �
- "+"� /"?" ������ �-�'��� IRS.  

3.11.7.3   ������ 4� �	�� 4�, ��>IRS ���� 0�,���� ���� ��&�� 
� ���J�� 3��� 43 " �,���� ����>3".  
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4.11.7.3   ������ ����ISS��� 0 �%������� " �,���� ����>3" 4�O�� #���	�� ���� 0" ������ ����>β"� " ������ ����>α" 
�" ������ ����>β"
������ @	! V��9��� 
1�9��� ���� #����� 5A��� �1! .  

5.11.7.3   ������ �����IRS ���� @�> ISS���+�� #����> 4�O�� 
��� #���	���� ���� �%������� ��� 0 :"� ����> �����
β" � " ������ ����>α" � " ������ ����>β"����� :  
D   V79 4�O�� #���	�� ���� ��>"���,� #����>"�3 B����1��� ������ 
� 4�,� 4�� 0  
D  "���,� ����>"0����1��� ����*��� ������ 
� 4�,� 4�� �����   

 ������ 43 @�> G���" �,���� ����>1" �3 " �,���� ����>2"!��� 5� 0 ���?�� 
� ���,���� P�
��� ���?�� ��1.12.7.3.  

6.11.7.3   ������ �����ISS ���� @�> IRS������ 43 ��� :  
D   V79 4�O�� #���	�� ���� ��>"���,� #����>"�3 B��*���� ����*��� ������ 
� ������ #1�, ��>   
D  "���,� ����>"����1��� ������ 
� ������ #1�, ��> ����� ?  

 �����" �,���� ����>1" �3 " �,���� ����>2" 
� 0������� �,���� ����> :�	! 4�,� ����� 0" �,�� ����>2" �3 " �,�� ����>1" 
���1��� ��&�2� 
� �,���� ���� �*��� 3���� 
������ @	!.  

12.7.3  !���+� ��)����  

1.12.7.3  8����� �,���� #����> �3 #���	���� ��� ������� 4�,� ���1! ���?	� 8���� 04������� ���� 0�������� 8.3 @�> 
 ���O�"�������� ���!>" ��� 32����� ���,� ���� .  

13.7.3  ��
����� ,����� !�&�� ��)����  

1.13.7.3   ������ @	! 4�, ��>ISS 4�����"� ���� 43 �%�	�� 0��������� ������ ���� @�> <����� �	�� 43 "�")  ���,����
 �A�(30� "⌧")  �A� ���,����(4 ��! �3 ����� ����> 0�&���� �1! 0��%���� 0" ���� #����>β"#���	���� ���� ���,�� .  

2.13.7.3   ����	� 
J�1�IRS �,���� #���	�� ����> 4�O�� #���	�� ���� �%������� ��� 0"⌧")  �A� ���,����(4 5� 0
43 ��A��� �	A ���� 
� �,���� ���� ��&��:  

D   ��J�&% ���?	� 8���� �,���� ���� �11.7.3B  
D  B������� �����	� 
	����� $���� ��?� ���� 4! ����
�� �,���� #���	�� #����> ����  
D   V79 4� ��%1� �, <���� #���	�� 
���� 0��	����� $���	� ��?� ���Q 
� �3 0
	����� $���� ��?� ����> ��� ����

" ���� #����>β"B  
D  ,���� �%& ��J� ���?	� 8���� 0�11.7.3 ���O��� @�> ����� 0IRS.  

14.7.3  !���-� )���#� ��)����  

1.14.7.3   ������ @	! 4�, ��>ISS ���� 43 �%�	�� 0���1��� ������ 
%1� 43 "��
�2� -�%�1� ����" V79 4�O�� 
��� 
" ���� #����>α" ������ 43 @�> 0" �,���� ����>1" �3 " �,���� ����>2"�� ����1� . ���� #2���> ��! 43 ���"��
�2� -�%�1�"  

 ������ ����� ���� #2���> ������ ���R�ISS ���� @�> "��M�12�".  

2.14.7.3   ������ ����IRS �%������� ��� 0"��
�2� -�%�1� ����" #	����� �A ���?�� 43 @�> ����� 0����1��� �,���� ����> 0
���� �9 08����
 82������ ���� @�> "��M�12�".  

3.14.7.3   ������ ����ISS ���� @�> "��M�12�" ���� ������� �,6� 
��� �,���� ����> �%������� ��� "��
�2� -�%�1�"���� 4�� .  

4.14.7.3   ������ @	! 4�, ��>IRS ���O��� @�> -�� ;� [��� ����� 43 
J�1�� 0���1��� ������ 
%1� 43 ISS��?	� 8���� 0 �
11.7.3-�%1"� ��	�! �?1� 43 ��A G��� .  

8.3  "���$��� "��
� ��)����  

1.8.3   @�> 42���� 4������� 4Y� 0�,���� ���� -�193 0�������� 8����� �,���� #����> �3 #���	���� ��� ������� 4�, ��>
 ���O�"�������� ���!>" ��� 32������� ���,��� 4� ����  . 
� �������� ���!>� 8���� 0������� ����	� 
�������� -��1"� ���!>

 ������� ���,��� �&��1 �%!���1� ���) ���?�� 5&��(12.7.3.  
���� �1 ��������� ���5� �
,����� ������� @�- ��A� 9  .���4�� ���'=� ��B �
��� ��4
 �% 0<-�
 �C ���.  
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2.8.3  ������� ���!> #�-��&Y� ��*���� ������ 3��� ���O� @�> �%����1� ��� 08���� �"�������� ���!>" . -��&> �� -��&"� ����
 4� 82�� ���� -��&"� ��� @�> �&	� 
��� ����1��� ������ 4Y� 0#����> 5��� -��1�� ���� ���� @�> ���1��� ��3� 0:�?1 ��������

" �,�� ����>4" 0" �,�� ����>5" ������ 43 ��� "-��1�� ����>"�� �������� ���!> �?1� 
��� ��*���� ������ 4! ����
�� ����1�.  

3.8.3   ������ ���1!" �,���� ����>5" ���?�� :��> ���� ��, 
�������� <����� ��� 0��*���� ����*��� ������ 
� 6.3 . 4,��
 ������ ���1!"<����� -�%�1� ����" V79 4�O�� 
��� "���,� #����>":  

1.3.8.3  �, ��> ���O��� 
� ����1��� ������ #1IRS ���� 43 �%�	! 4�,� T���12� �M�� :  
D   ��>" �,�� ����>1" 
� 0T���12� ��A 8����
 82������ #	����� ���� �+K #1�, 4> 0" #���	�� ����2".  
D   ��>�" �,�� ����>2" 
� 0T���12� ��A 8����
 82������ #	����� ���� �+K #1�, 4> 0" ���� #���	��1".  

2.3.8.3   ���O��� 
� ����1��� ������ #1�, ��>�ISS ���� 43 �%�	! 4�,� T���12� �M�� " �,���� ����>3" @�> ������ 3���� 0
 ���O���IRS . V79 #	����� �A ��*���� ������ 4�,� 43 ��� ;3 ������ -�%�1� ���"���,� #����>" ���� 08����
 82������ 

�*��� ������ ��*���� ���:  
D   ��>" �,�� ����>1" 
� 0T���12� ��A 8����
 82������ #	����� ���� �+K #1�, 4>� 0" #���	�� ����2".  
D   ��>�" �,�� ����>2" 
� 0T���12� ��A 8����
 82������ #	����� ���� �+K #1�, 4>� 0" #���	�� ����1".  

4.8.3  �%������� ��� 0����*��� ������ ���� " �,���� ����>4" 0�������� ���!> #�-��&> -�193 
� "��
�� -�%�1� ����" ����� 
 V79 4�O��" ���� #����>α"�������� ���!> ������ ����� 5����� 0.  

5.8.3   ����	� 8����� �1$�+��� ���%�� 5� �	������� <����� ����> 0<��� ���� �, �%������� ��� 0����1��� ������ 4����
�� ��*���� ����*�:  
D  B����1��� 
��A���� T��&��� ����> ����> ��! G��� 0������� #����"� 4�,� 4�� #�-��&"� ����1��� ������ 5�����  
D   #�-��&Y� ����1��� ������ 3��� �3"��
�2� -�%�1�" ���?	� 8���� 014.7.3 
� @���� 0������� ��Q #����"� 4�,� 4�� 0

��� ���!> ���O������.  

6.8.3   ����1��� ������ ����" �,�� ����>1" V79 4�O�� ���� �%������� ��� 0����� " ���� #����>α" @���� 0
�������� ���!> ���O� 
�.  

7.8.3   #����"� ��!��� -��1 ���� ���� 
� 0�������� ���!> �?1� 
��� ��*���� ����*��� ������ 4>:  
D  ���	�� ����> ������ 5���� 4�������� 4�����> �%������� �1! 0�,���� " �,�� ����>1" �3 " �,�� ����>2" ������ 4�,�� 

���O��� 
� ����1��� IRS ���?	� 8���� 0������� #�-��&Y� 3��� �3 01.11.7.3 ���O��� 
� ����1��� ������ 4�,� ���1! 
ISSB  

D   ���?	� 8���� ������ #�-��&Y� ������ 3���4.11.7.3! 4�������� 4�����> �%������� �1 :" �,�� ����>3" ������ 4�,�� 0
 ���O��� 
� ����1���ISS.  

8.8.3   ���� #����"� ��!��� -��1 ���� ���� 
� 
�� ����1��� -��1�� ����> ����1��� ������ ������ 43 ���:  
D   ���O��� 
� #1�, 4>IRST���12� �M�� 0:  

  D   ��>" �,�� ����>1"��> 0 #	�����  " #���	���� ����2"BT���12� V��� 43 ��A 8����
 82������   
  D   ��>�" �,�� ����>2" #	����� ��> 0" #���	���� ����1"T���12� V��� 43 ��A 8����
 82������ .  

D   ���O��� 
� #1�, 4> ��3ISS ���� 
%� 0T���12� �M�� 0" �,���� ����>3"@�> ������ ��	��� -��	�  ���O��� ISS.  

9.8.3   4� �?�6��� ��M�12� ���� -�193 
� �������� ���!> ��� �� ��>32 2� 0��M�12� ���� @�> 4����� 4������� 4Y� 0���� 
�������� ���!" ����& #2���� ��3 �?1�.  
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9.3  ���	�� ����
�� ������� ���	�� ��* �	
�  

1.9.3  ���	�� ��*  

X1 - RQ - X2:    4�O��"� -��1�� ���1"��1�9��� @���� <����� 
����> .  
X3 - X4 - RQ:   " -��1�� ����2"�������� �9��9�� <����� 
����> 4�O�� 0#����"� ��!��� -��1 ���%� .  
RQ - X3 - X4:   " -��1�� ����2"�������� �9��9�� <����� 
����> 4�O�� 0#����"� ��!��� -��1 ���%� .  
X5 - X6 - X7:   "� -��1�� ���3"�������� �������� ����+�� <����� #����> 4�O�� 0#����"� ��!��� -��1 ���%� .  
Y1 - α - Y2:   " <����� ����1" 4�����"� 4�O�� 1 � 2
��A���� T��&�	� @���� ����"� �	�� 
����� <���	� .  
α - Y3 - Y4:   " <����� ����2" 4�����"� 4�O�� 3 � 4���� <���	� 
��A���� T��&�	� ��1�9�� ����"� �	�� 
�.  
Y5 - Y6 - Y7:   " <����� ����3" #����"� 4�O�� 5 � 6 � 7
��A���� T��&�	� �9��9�� ����"� �	�� 
����� <���	� .  

RQ - RQ - RQ:  #�-��&"� ��� -�%�1� @�> ���� �%1Y� 
�������� <����� #�-��&> -�193 
� ���?�� ��� #�%M ��> �	��� 
����1��� �,���� ����>.  

   
� ������ #�-��&> -�193 
� �,�� �3 0�,�� ����> �+\ ���,��� �	� @�> 0�,���� ���� �7+ �����
 @�> ���&��2� ���O���β-α-β.  

β - α - β:   �,���� ���� ��&�� ���J�� ����.  
α - α - α:   ��
�2� -�%�1� #�-��&Y� 3��� 
��� ���?��.  

2.9.3  ����	�� ����
�� �����  

CS1:   �	� ���U���" #���	���� ����1" �3 "-��1�� ����>"�������� -�193 
� 08����
 82������ / �������� ���!>) ���� 
�
��� #����"� ��!��� -��1 ����.(  

CS2:   �	�" #���	���� ����2".  
CS3:   ������IRS�,���� ���� ��&�� ���J� �	�� .  
CS4:   #	�����"-��1�� ����>"�������� -�193 
� 8����
 82������ .  
CS5:   #	�����"-��1�� ����>"�������� ���!> -�193 
� 8����
 82������ .  
RQ:   @�> ���&��2� 0������ #�-��&> -�193 
� �3 0#���	�� ���� �3 <��� ���� �+K ����> ���!> �	�β - α - β.  

4   ������ �� 	
��
��(FEC) B  

1.4  ���
 ������
�  

 ��	���� ���� ���� 4� 5��1� ��Q #����"� 4� 8����A ����� 4��$�� ��	��� ��M1�� ����B 
!��&�� (CBSS) @�> 
 ����"� ������ #���� ��!B 
!��&�� (CBRS) ��	���� ���� ���� 4� �3 B 
*���12� (SBSS) ��! �3 ���� ��1 

 ��	���� ������ ����+� #����B12�  
*���(SBRS).  

2.4   !�&�+� �$��CBSS)� (SBSS  

 ��	���� 0����"� ���� 4>B ��	����� 
!��&�� B ����> ��3 4> �> 4���� ����> �, ���� 0
*���12� (DX) ����" 
 ����> ���!> �*��� ���� 0P�+3 #����> 5��3 ����> :���� �1���(RX)7�+�� 82������ /��� ���� 0@���� ����"�  5� #A��� <

 X	�� �	
�� ����ms 280 (ms 70  × 4))  �,��� 5&��(2.  
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 �,���2   

#A��� <7�+�� ����>  

2 8 0   m s t 

M E S S A G E 

M E S S A G E 

D02

������� DX

������� RX

  
  

3.4   !����&-� �$��CBRS)� (SBRS  

 ��	���� ������2� ���� 4>B ��	����� 
!��&�� B 4�����"� 4� ����� 0
*���12� DX)� (RX�"� ������� 0 ��Q ���
������� .4������ ��%1�,� ������ 43 �*�1! 
J�1� 04��?	�+� ��%1,� 4������ ��Q 4�����"� ���� ���1!�.  

4.4  "���$��� ��)����  

1.4.4   ���� 
� 4������� 4�,� 0���1� ���� ��9 4�,� 2 ���1!"��M�12�" ������ ��� @�> ������� �3 ����> ���� T$�� 2� 
G	� �3.  

2.4.4   0���1���� ����� 0����"� ���� 
� ���	���� ���� 43 
J�1� 
��� ������ /�
�" ������ ����>2"� " ����>
 ������1" ����� 0" �������� ����>2" ���O��� 
� DX ���� ��1�� 0" �������� ����>1" ���O��� 
� RX . 43 
J�1��

 ���R�16#����"� ��� I��$3 4� 0�A�� @	! 08�&�$ .  

3.4.4   #����"� 5���� ������ ������� �1! ��3" ������ ����>1" D " ������ ����>2" #����"� 5���� �3 0" ������ ����>
2" D " ������ ����>1" V�� " �������� ����>2" ���O��� ���� DX ���� ��1�� 0" �������� ����>1" ���O��� RX ������ 0

������ 
����> ������� ��� 0������ ������ @�> 0����1��� ������ 
� �A�� @	! 4���+3 CBRS ������ <���> ����A ����� 0
 �,���� #���	�� ����> ������� 4�� @�> �+�� I�+ <���� �1!" ← ")  �A� ���,����(27 �3 " ≡ ")  �A� ���,����(28.  

5.4   ��%���#-� "���#��� ��)����) /�
&(�B�%���#-� (  

1.5.4  ��� ���� ���SBSS 0�������� #����> 4� ��	���� ����� ����> ��� 0"����1��� ����>" 4� �,��� 
��� 6 #2���> 
 �%���� 0����+��� ������ <��� #����> �%1� ���� �, 4�O��� 0���� 5�����" ���� ����>β" . ��	�� 8���� ����"� ��� ����

 ���?	� 8���� #A��� <7�+�2.4.  

2.5.4  ���� ���� ��SBSS "-��1�� ����>" ���1��� ���7�� #���	���� #����> �,� 3B/4Y @�> ���1��� ���,�� ;3 0
 4����&�� 
� ������� #���	���� #����>1 � 2 ���&�� 
� <����� #����>� 033 .  

3.5.4   4�O��"-��1�� ����>"����	� 8���� 08���� �3 0<��� #����> 5��3  . ���&�� �����3 8����� 3 <����� #����" . 
J�1��
 ��
��	� 8������ ����1�	� #����"� ��� ��,�� 4�,� 43ITU-R M.491.  

4.5.4   ������ �����CBRS ������ @�> SBRS �%���� #����> �9�� #����"� 4� ���, 5����� ������ ��Q ������2� ��� 0
� @�> �+�� I�+ <���� �1! <���> ����A ����� 
� ������ ���,�� �,���� #���	�� ����> ������� 4�" ← ")  �A� ���,����

(27 �3 " ≡ ")  �A� ���,����(28.  

5.5.4   ������ 
� ���&���� ������ ����SBRS ���1��� 8���2 �	������� #���	���� #����> 3B/4Y #������ �, ����� 0
 ���� @�>"��M�12�".  

6.4  ������ '*��  

1.6.4  �� 0����"� ���� ���� #���	���� 
����> 0�,���� #����> ��3 ����> ��A ����" ← ")  �A� ���,����(27� " ≡ " 
) �A� ���,����(28�,���� ����Y� 3��� �9 0.  
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2.6.4   ���� ����CBSS #���	���� ���� #�!���1� -�193 
� " �������� #����>1"� " �������� #����>2" 
� 
 4����O���RX� DX
������ @	! 0 .�� 4� 5���� �A�� @	! V��� 43 
J�14 �, 
� 0��������� �������� #����> 4� I��$3 

100 ���O��� 
� ���� ����> DX�,���� ���� -�193 
� .  

3.6.4   ���� ����SBSS " ���� ����>β"#���	���� ���� 
� #�!���12� -�193 .  

4.6.4  ������� #���	���� #����> �!���� ������2� ���� 3��� ���	���� ����> �%������� ��� �,���� 4! �	" ← ")  ���,����
 �A�(27 ����"� �3 0" ≡ ")  �A� ���,����(28.  

 �������1 �  ���-��� ������"�5�-�" �
��	D�� 0
 4.6.4 � 5.6.4E�$�� �12'% ��� �4���� ������ �	� )�� ����F� .  

5.6.4  ���� 4�����"� 4� ������2� ���� ����� 4����O��� 
� 4��	���DX � RX:  
D   ����> �!���DX ����> �3 RX�3 B����� ��Q   
D   ����> �!���" ∆ ")  �A� ���,����(31 �!��� �%1� 82�� �3 "��+�� ���") �������� ������( 4�����"� #1�, ��> 0DX 

�RX04������  4��?	�+� ��%1,� 4������ ��Q ���%M �3.  

6.6.4  ��2� ���� ���� ���� @�> ����"��M�12�" ���� �7+ 0#����� 5� �	������� #����L� ���*��� ���1�� $��&�� 4�� 
������� ��� ���A 08����� ����� ��1�$.  

7.6.4  !�&�+� )���#�  

1.7.6.4   ��	���� ���� ���� 
%1� 43 
J�1�CBSS) B �3 (SBSS ����> �7+ 4� 0�%����> " ���� #����>α" 0������� 
 ���� @�> �*��� ������ ���� �9 0�,���� 4! �	����� #���	���� #����> �+K ��� 8���� G��� �A�� @	! 4���1�9 4� ���� ����

"��M�12�".  

2.7.6.4   ���� @�> ������2� ���� ����"��M�12�" ���
A3 ���� �7+ ms 210 ������� ��� " ���� 
����>α" @	! 4�������� 
� 
� 
�� �A�� ���O��DX.  
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 �,���3  

 �������� ���� 1� "���$��� ��)����  
 �����+� ��
��& )��# ���2 ���� �*) /�
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S

E
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R
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R

α
V
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 �,���4  
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R
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 �,���6  

3����� !����&-� ���� �* �������� ���� 1� "���$��� ��)����  
�2 ��� ��&#��������+� ��
��& )��# ��  
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E
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*
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D
D

RQ
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RQ
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RQ

RQ
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K

RQ

Q

   RQ

V

Z

K

RQ

Q

CS2

Station I

Master
Station II

Slave

Transmitter

                 Receiver

        Transmitter

 Receiver

 Call block 1

ID block 1

End-of-ID

Block 1

* Detected error

 Call block 2

 Call block 3

 Call block 1

ID block 1

ID block 2

ID block 2

ID block 2

ID block 3

End-of-ID

Start ID cycle

End ID cycle

End ID cycle

Start ID cycle
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������ ����1

$�#��� ����1
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���&��1

������ ����1

$�#��� ����2

$�#��� ����2

$�#��� ����2

$�#��� �	����

$�#��� ����3

$�#��� ��
� �	����

������ ����2

������ ����3

$�#��� �	����

$�#��� ��
� �	����

$�#��� ��
� �����

*����� ���  

$�#��� ��
� ����� 
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 �,���7  

3����� !����&-� ���� �* ������ '*��� �����+� $$	���  
  

A

B
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Transmitter

                          Receiver

             Transmitter

 Receiver
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RQ block

*  Detected error
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Stop
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Stop

polarity
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 �,���8  

�����+� ��
��� )��# ���2 ���� �* "���$��� ��)����  
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A

B

C

A
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                          Receiver
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Call block 1

Call block 2

Block 1

Block 2

Call block 1

With some equipment built in accordance with Recommendation

 ITU-R M.476 this could be CS2.

(  )1
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������II 
 ��	
��  

 ������I   
 ���	�  

������ ������  
��
����� ��
�����  

������ ����1 

������ ����2 

������ ����1 

���&��1 

���&��2 

(1) 	
���
� ����� 	
����� ���
����� ��� �� ���
ITU-R M.476��� ���� �! "  
 #$��%�CS2.  
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 �,���9  

�����+� ��
��� )��# ����� "���$��� ��)����  
-� ���� �*3����� !����&  
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                          Receiver

             Transmitter
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Call block 1

Call block 2

Call block 1

Call block 2

Call block 1

Block 1

Block 2

       Detected error

       With some equipment built in accordance with

       Recommendation ITU-R M.476 this could be CS2.

*
(1)
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 ������I  
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��	
�� 

������������ 
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�������
����� 

������ ����1

���&��1

������ ����2

������ ����1

���&��2

������ ����2

������ ����1

* ����� ��� 
(1)   ��� �� ���
 	
���
� ����� 	
����� ���
����� ITU-R M.476 #$��%� ��� ���� �! "CS2.
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1: phasing signal 1

2: phasing signal 2

Selective call No.: 67890
Z F S T

Stand-by

Overlined symbols (e.g. M)

are in the 3B/4Y ratio
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1: phasing signal 1

2: phasing signal 2

Overlined symbols (e.g. M)

are in the 3B/4Y ratio
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����� �����	 
�1  

  

���	��� 
1  

 ��������SDL)  �	
���(A  

1  ���� �����	��  

 ������� ���ITU-T Z.100 �	���
��� ����� ��� (SDL).  
������� ��
����� ��
��� ��
���� ���∗:  

�����

D13  

�  "������"�
 ��� ����
� �� ����� ���
� �!�� #��� ���$� �% .  
 

����� ���

���	� ���

D14  

�  "�����"���
� �&� '
 ���� ����� (��)* �% .  
 

����� ���

���	
 ���

D15  

�  "+����"��, '�-
 �� ���- �
�� (��)* ���� /���* �% .  

������

D16  

                                                 
∗   ������ �� ��	
�:  

   ����"������ "	�
��� 	�
�
�� ����� �����
:  
n

x-y (z)  
  ���:  
  n:  ������ ���  
  x:  ������ ���  
  y:   ������� ���)������� ���
 ���� ����� 
���� �!�� #(  
 z:  ���$#
���   
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�  "���0��"�����
 (�� '�� '
 1����
 ������ 2������ 34% �� 5
� ����* 6�� ������ '-
� 17�8� ���0� /���* �%  /�!
9 
;������ 4�	
�.  

 

���� 

D17  
  
�  "�
!
��"1���� 7� 1����� <�� /���* => �% .  

2   ������� ��	�
� ��
� ���� ���� �� ��������� ������ �� �������� �������)�
����� ������(  

1.2   ��??�
�� ���SDL ���4��� �� 2.  

2.2  9� ������ ��??�
�� �� �
����������� ���):  

  
������  �
%�&�  ��
���  ������  

n0  128'���   02� 03� 04  1  

n1 128'���   00  1  

n2 32'���   05� 06� 07� 08  2 � 3  

3   ��	
��� ��

�	 ���� ���� ��
� �� ��
������ �	���� �� �	�
���� ��

� ����	��)���
��� ������(  

1.3   ��??�
�� ���SDL ���4��� �� 3.  

2.3  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n5  32'���   00� 02� 03� 04  1  

   05� 06� 07� 08  2 � 3  

n1 128'���     1  

n2 32'���   05� 06� 07� 08  2 � 3  

4   ������� ��	�
� ��
� ���� ���� �� �������� ���� !�
 �������� �������)�������
����� (  

1.4   ��??�
�� ���SDL ���4��� �� 4.  

2.4  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n0  128'���   02� 03  1  

n1 128'���   00  1  
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5   ������� ��	�
� ��
� ���� ���� �� �������� ���� !�
 �������� �
�	� �������)�
����� ������(  

1.5   ��??�
�� ���SDL ���4��� �� 5.  

2.5  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n5  32'���   00� 02� 03  1  

n1 128'���     1  

6   ��	
��� ��

�� ���� ���� ��
� �� ��
������ �	���� �� �	�
���� ����	��)���!���� ������(  

1.6   ��� ��??�
��SDL ���4��� �� 6.  

2.6  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n2 32'���   05� 06� 07� 08  2� 3  

7   ��	
��� ��

�� ���� ���� ��
� �� ��
������ �	���� �� �	�
���� ��

� ����	��)���!���� ������(  

1.7   ��??�
�� ���SDL  ���4��� ��7.  

2.7  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n5  32'���   00� 01� 02� 03� 04  1  

   05� 06� 07� 08  2� 3  

n2 32'���   05� 06� 07� 08  2� 3  

8.   ������� ��	�
� ��
� ���� ���� �� �������� ���� !�
 �������� �������)����
�"���� ���(  

1.8   ��??�
�� ���SDL ���4��� �� 8.  

9   ������� ��	�
� ��
� ���� ���� �� �������� ���� !�
 �������� �
�	� �������)�
�"���� ������(  

1.9   ��??�
�� ���SDL ���4��� �� 9.  

2.9  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n5 32'���   00� 01� 03  1  
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10   ������� ��	�
� ��
� ���� ���� ��� ������� ��	�
� ��
� ���� ���� �� �#���� $�
�) ������ !�#�
 ���%��� ��(ISS  

1.10   ��??�
�� ���SDL ���4��� �� 10.  

2.10  ������� ���)9� ������ ��??�
�� �� �
����:  

  
������  �
%�&�  ��
���  ������  

n3  32'���   09� 10� 13  1� 3  

n4 4$����   11� 12  2  

n1 128'���   12  2  

n5 32'���   11� 12� 13� 14  2� 3  

11   ������� ��	�
� ��
� ���� ���� ��� ������� ��	�
� ��
� ���� ���� �� �#���� $�
�) ������ !�#�
 ���%��� ��(IRS  

1.11   ��??�
�� ���SDL ���4��� �� 11.  

2.11  ��������� ���)9� ������ ��??�
�� �� �
��:  

  
������  �
%�&�  ��
���  ������  

n3  32'���   09� 10� 11  1� 2  

n5 32'���   09� 10� 11� 12  1� 2  
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������� �2  

 ��������� �	
��� �� 
	������ ����	��  
 ��	���� ������ ���� ���� ���� ��)������� ������(  
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